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Back to my Master’s...

Fit electron beam scan of the entrance aperture
with error function
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Effect of magnetic field on electron beam trajectory calculated as the difference between the two scans

(considering proton beam trajectory straight)
e Fit both scans ramps with error functions
* (Calculate the difference between the centers of ramps (u values)
* Assizes are different, final value is the average of the two distances.
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PhD next steps:

Estimate maximum radius of the . .
Define the transverse size of the
proton beam at the entrance of the :
vacuum window

v

second vapor source /

Choose thicknesses and materials Discuss with vacuum

for vacuum window and LBDP team

v

|

Discuss with beam line
team

<« | Define beam parameters

|




